4
o

Designation

Washer, Plain Round, chf. TBRSB 5.3x15x1 A4

Washer plain, M4 1SO7089-4-200 HV A4

Washer ISO 7089-12-200 HV A4

Parallel pin ISO 2338 3m6x18 St

Parallel pin ISO 2338 4m6x12 Al

Parallel pin ISO 2338 6m6x20 Al

Parallel pin ISO 2338 6m6x32 Al

Parallel pin ISO 2338 6m6x40 Al

Spring pin, ISO 8752 5x20 A2

I (1 (X NT [ (6] BN (V] TN E

Split pin ISO 1234 1976 SP2,5x25RFR

=
[y

Screw, M6S ISO 4017 M4x6 A4 70

-
N

Screw, M6S I1SO 4017 M4x20 A4 70

-
w

"Screw, M6S ISO 4017 M6x10 A4 80"

.
S

Screw, M6S I1SO 4017 M6x16 A4 80

-
;]

Screw, M6S ISO 4017 M6x25 A4 80

-
(o)}

Screw, M6S ISO 4014 M6x40 A4 80

-
N

Screw, M6S I1SO 4017 M8x30 A4 80

—
[e]

Screw, M6S ISO 4014 M8x35 A4 80

—
O

Screw, M6S 1SO 4014 M8x130 A4 80

N
o

Screw, M6S I1SO 4017 M10x20 A4 80

N
e

Screw 1S04762 M3x12 A4 80

N
N

Screw 1S04762 M5x20 A4 80

N
w

Screw 1S04762 M8x12 A4 80

N
N

Screw 1S04762 M8x30 A4 80

N
(6]

Countersunk Flat Head Screw ISO 2009 MFS M3x6 A4

N
a

Countersunk Flat Head Screw ISO 2009 MFS M4x8 A4

N
N

Countersunk Hex. Sock. Head Screw DIN 7991 MF6S M4x25 A4 70

N
[oo]

Countersunk Hex. Sock. Head Screw DIN 7991 MF6S M4x30 A4 70

N
O

Countersunk Hex. Sock. Head Screw DIN 7991 MF6S M4x35 A4 70

w
o

Countersunk Hex. Sock. Head Screw DIN 7991 MF6S M6x12 A4 70

w
firg

Sholuder screw, ISO7379 6x40/M5 12.9

w
N

Screw,Hex.Socket Set Cup Point MSK6SS 1S04029 M4x8 A4

w
w

Screw,Hex.Socket Set Cup Point MSK6SS 1S04029 M6x8 A4

w
N

Hexagon Nut, M6M M3 A280

w
(6]

Hexagon Nut, M6M M6 A280

w
a

Hexagon Nut, M6M M10 A280

w
N

Hexagon nut, Ny-Lock M5 A4 80

w
[oo]

Hexagon nut, Ny-Lock M6 A4 80

w
O

Washer plain, 3,2x6x0,5 A4 BRB

N
o

Washer plain, 5,3x10x1 A4 BRB

N
=

Washer plain, 10,5x22x2 A4 BRB

N
N

Washer plain, 20x36x3 A4 BRB

N
w

Washer plain, M6 1SO7089-6-200 HV A4

N
N

Parallel key w. round ends, 4x4x12 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

N
i

Parallel key w. round ends, 4x4x16 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

N
a

Parallel key w. round ends, 6x6x20 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

N
N

Parallel key w. round ends,Stainless steel SS2321, 5x5x25mm Acc. to standard DIN 6885 (ISO/R 773-1969)

N
[e0]

Parallel key w. round ends, Stainless steel SS2321, 6x6x16 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

N
O

Parallel key w. round ends, Stainless steel SS2321, 8x7x45 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

(9]
o

Retaining ring for Shaft DIN 471 12 Stainless Steel, EN 1.4116/1.4122

(6]
[aiiy

Retaining ring for Shaft DIN 471 15 Stainless Steel, EN 1.4116/1.4122

(§;]
N

Retaining ring for Shaft DIN 471 16 Stainless Steel, EN 1.4116/1.4122

(6]
w

Retaining ring for Shaft DIN 471 18 Stainless Steel, EN 1.4116/1.4122

ul
N

Retaining ring for Shaft DIN 471 20 Stainless Steel, EN 1.4116/1.4122

w1
(6]

Retaining ring for Shaft DIN 471 25 Stainless Steel, EN 1.4116/1.4122

ul
()}

Retaining Ring for Bore DIN 472 35 Stainless Steel, EN 1.4116/1.4122

(6]
N

Retaining Ring for Bore DIN 472 47 Stainless Steel, EN 1.4116/1.4122

ul
o]

Retaining ring Shaft DIN 6799 3,2 Stainless Steel, EN 1.4116/1.4122

6]
(o]

Retaining ring Shaft DIN 6799 5 Stainless Steel, EN 1.4116/1.4122

(o)}
o

Retaining ring Shaft DIN 6799 10 Stainless Steel, EN 1.4116/1.4122




No.

Designation

61

Retaining ring Shaft DIN 6799 8 Stainless Steel, EN 1.4116/1.4122

62

Screw Springload. Slotted Head M8x16

63

Screw, M6S I1SO 4017 M8x100 A4 80

64

Retaining Ring for Bore DIN 472 24 SS

65

Nut Round with slots M17x1 FE

66

Lock washer MB 5 d=25 H=1,25

67

Hexagon Thin Nut, EN 24035 ML6M M8 A4

68

Hexagon Nut, M6M M12 A280

69

DOMED CAP NUT, M22M M12 A2

70

Parallel pin ISO 2338 3m6x14 Al

71

Parallel pin ISO 2338 4m6x20 Al

72

Screw, M6S I1SO 4017 M10x30 A4 80

73

Slotted head screw, 1ISO1207 M4x6 A4

74

Set screw, Cup end 1SO4029 M6x12 A4

75

Washer plain, 23x39x3, A4

76

Parallel key w. round ends,5x5x12 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

77

Parallel key w. round ends,5x5x16 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

78

Parallel key w. round ends,Stainless steel SS2321, 6x6x30 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

79

Retaining Ring for Bore DIN472 30 Stainless Steel, EN 1.4116/1.4122

80

Retaining ring shaft DIN 6799 15 SS

81

Retaining Ring for Bore DIN472 42 SS

82

Parallel key w. round ends 5x5x16 mm Acc. to DIN6885,ISO/R 773

83

Parallel pin ISO 2338 8m6x20 Al

84

Spring pin, ISO 8752 3x20 A2

85

Spring pin, ISO 8752 5x16 A2

86

Screw, M6S I1SO 4017 M4x10 A4 70

87

Screw, M6S ISO 4017 M6x8 A4 80

88

Screw, M6S I1SO 4017 M6x20 A4 80

89

Screw, M6S ISO 4014 M6x55 A4 80

90

Screw, M6S I1SO 4017 M8x16 A4 80

91

Screw, M6S I1SO 4017 M6x35 A4 80

92

Screw, M6S ISO 4017 M6x50 A4 80

93

Screw 1S04762 M6x20 A4 80

94

Slotted head screw, 1SO1207 M3x14 A4

95

Slotted head screw, 1ISO1207 M4x8 A4

96

Countersunk Hex. Sock. Head Screw DIN 7991 MF6S M3x6 A4 70

97

Countersunk Hex. Sock. Head Screw DIN 7991 MF6S M4x20 A4 70

98

Shoulder Screw 1SO7379 6x12/M5 12.9

99

Set screw, cup end 1S04029 M4x4 A4

100

Set screw, Cup end 1S04029 M4x6 A4

101

Set screw, Cup end 1S04029 M6x20 A4

102

Hexagon Nut, M6M M5 A280

103

Washer plain, 4,3X8,0X0,8 BRB

104

Washer plain, 6,4X12x1,5 BRB

105

Washer plain, 8,4x16x1,5 BRB

106

Parallel key w. round ends,Stainless steel SS2321, 6x6x20 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

107

Parallel key w. round ends,Stainless steel SS2321, 6x6x45 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

108

Parallel key w. round ends,Stainless steel SS2321, 8x7x25 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

109

Parallel key w. round ends,Stainless steel SS2321, 8x7x35 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

110

Parallel key w. round ends,Stainless steel SS2321, 10x8x70 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

111

Parallel key w. round ends, Stainless steel SS2321,12x8x32 mm Acc. to standard DIN 6885 (ISO/R 773-1969)

112

Retaining Ring for Bore DIN472 28 Stainless Steel, EN 1.4116/1.4122




